Solving algebraic fractions (one fraction equal to
another)

Mr Lund

Maths

| &



Solving algebraic fractions (one fraction equal to another)

1. Match the pairs of equivalent

equations.

f

3a=2(a+1)

\.

r

2(a—-2)=3a

\.

[ 3a=2a-2

2. Solve the equations.

a) % — (a?':-l)
b) % _ (a?:-')
o 2373

d) 278 _ (283—1)
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Solving algebraic fractions (one fraction equal to another)

3. In each case, the equations are equivalent.

Find the missing values.
a)

(@-=5  (a+1) e
e o

3(a+1) ]

o)

[(8—5):([38“) J[Za—C]:Ga +Ij]

3 -

4. Solve for a.

) (a2—1) _ (ag1)
o) (a;]) _ (a3—1)

. (2a2— 2) _ (5a3+1)
g 2+5)_ (2a-25)

2 3
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Solving algebraic fractions (one fraction equal to another)

1. Match the pairs of equivalent 29Solve the equations.

equations. . (a+1)
) . ) . a) > 7 a=2
(3;2):2 3a=2(a+1) 2 (ao1)
. J \ J b) > = 2 a==-2
r “ e D
a_fa+1 2(a-2)=3a
L 2 3 ¥ \ J C) (agz):% a=—4%
( =2 4 )
a _fa-1 3a=2a-2
\. 2 5 J . J d) 278 — (283_1)83—1
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Solving algebraic fractions (one fraction equal to another)

3. In each case, the equations are equivalent. 4. Solve for a.
a)

) (a2—1) _ (a;]) a=5

(@ =5 (@+1) e
[' > = ][2(8 5) 3(@+1) ] o) (a;'l):(az—na:_s

(22-2) _ (Sa+]1)

[(a—5)=(2a+1) ]5[28_10:6a+3 ] c) > z—a=-2
3 2 :

(3a +5) _ (2a -2.5)

2 3 a=—4

d)

L



